e
@ ! a o [-% o a (7 |4
\’Q) A *\—‘E § LA &IU NEAULN QL ANITANLUUANTAIEINLALU

ifa: Sun: Avuuu:
3 177 3
42 -56)= S 2yi3
(5 5.6) (10 2) 3
1 21 413
14 2)= e Y
3(5 6) (2 10)
— 1
(5+33)%5.1 MLV
2
4 72 (3+29)x3.4 =
—t —)+6= . .
(5 5)
9 18 5
(4 5) 9 ( 2) 5

www.snowmath.com



D8 A 8T

LAREIU NATAN @ 16UNITE L DAUNTITAIEIILAL

fa:

4(% ~5.6) = (-20)

79
3(51+—)—_

4233

+ 1 =
(5+3.3)x5. T00

114 31
—+Z)+6=
(o + 6=

9 18
Z 4+ __)+9=
G+

13
20

Judt _ eswuuw_
(%_%)+3=2?7
(%_ﬁ)‘ =(—%)
2(% ~3.7) = (_%)
(3+29)x3.4 = 1(5)83
(11 + = ) 5= 27

10

www.snowmath.com




